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Jolzod ol 8pelJp 8JIsJly (x) = ax + b.

import numpy as np

import math
x = np.linspace(-math.pi, math.pi, 20)
print(x)

[-3.14159265 -2.81089869 -2.48020473 -2.14951076 -1.8188168 -1.48812284
-1.15742887 -0.82673491 -0.49604095 -0.16534698 0.16534698 0.49604095
0.82673491 1.15742887 1.48812284 1.8188168 2.14951076 2.48020473
2.81089869 3.14159265]
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x = np.linspace(0, 100, 20)

import numpy as np

import math

np.linspace(0, 100, 20)
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np.linspace(0, 100, 20)
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print(x)

print (y)
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x = np.random.rand(2)

print(x)

[0.06094295 0.89674607]
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x = np.random.rand(2)*100

print(x)

[39.6136151 66.15534011]
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import numpy as np
import math

import matplotlib.pyplot as plt

x = np.random.rand(10)*100

y = np.random.rand(10)*100

plt.plot(x,y)
plt.show()

<img src="/assets/images/ml/xyl.png" alt="xyl" style="zoom:30%;" />

[20.1240488 59.69327146 58.05432614 3.14092909 82.86411091 43.23010476
88.09796699 94.42222486 58.45253048 51.98479507]

[68.7129098  1.6457994 49.34115933 71.13738592 53.09736099 15.4485691
45.12200319 20.46080549 67.48555147 91.10864978]
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import numpy as np
import math

import matplotlib.pyplot as plt

x = np.random.rand(2)*100

y = np.random.rand(2)*100

print(x)

print (y)



plt.plot(x,y)
plt.show()

<img src="/assets/images/ml/x1.png" alt="x1" style="zoom:30%;" />

<img src="/assets/images/ml/y11l.png" alt="y11" style="zoom:30%;" />
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import numpy as np
import math

import matplotlib.pyplot as plt

x = np.random.rand(2)*100

y = np.random.rand(2)*100

a_max = 1000
a_min = -1000
b_max = 1000
b_min = -1000

def cal_d(da, b):

yO = x[0] * da + b
yi

d = abs(y0 - y[0]) + abs(yl - y[1])

x[1] * da + b

return d

def cal_db(a, db):

yO = x[0] * a + db
yi

d = abs(y0 - y[0]) + abs(yl - y[11)

x[1] * a + db

return d



def avg_a(Q):

return (a_max + a_min) / 2

def avg b():

return (b_max + b_min) / 2

for i in range(100):

m
[

= avg_a()
b = avg_b()
max_d = cal_d(a_max, b)
min_d = cal_d(a_min, b)
if max_d < min_d:

a_min = a
else:

a_max

Il
)

a = avg_a()

max_db = cal_db(a, b_max)
min_db = cal_db(a, b_min)
if max_db < min_db:

b_min = b

else:
b_max = b
print (x)
print (y)
print('a = ', avg_a())
print('b = ', avg_b())

print(avg_a() * x[0] + avg_b(Q))
print(avg_a() * x[1] + avg_b())

P& o)t o

[42.78912791 98.69284173]
[68.95535212 80.89946202]
a= 11.71875
b = -953.125



-451.68990725289063
203.4317390671779
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import numpy as np
import math
import matplotlib.pyplot as plt

from numpy.random import rand, randint

randint (100)
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randint (100)
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a_max=1000
a_min=-1000

def cal_d(da):
yO = x * da

return abs(y0 - y)

def avg_a(Q:

return (a_max + a_min) / 2

for i in range(1000):
a = avg_a()
max_d = cal_d(a_max)
min_d = cal_d(a_min)
if max_d < min_d:
a_min = a
else:

a_max = a

print (x)
print (y)
print(avg_a())

print(avg_a()*x)
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96

61
0.6354166666666667
61.00000000000001
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